Week 6 Lesson 1 Questions

Metric conversions

SUPPORT
Kilo thousand one thousand times
bigger
gram/metre/litre
gram/meter/litre
milli thousandth one thousand times
smaller
gram/metre/litre

I +1,000 I

kilograms

Torooo )

grams

1 metre (m) is equal to:

x 1,000

0.007Tkilometre (km) which is one kilometre divided by 1000

1000 millimetre (mm) which is one thousand times a millimetre

So 8 metres are equal to:
0.008km (8 divided by 1000)
8000mm (8 x 1000)
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1. 6000g = ___Kkg

2. 8000m =___km
3. 2000mm =
4. 7000ml =
5. 2kg=___ ¢
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.5km=__m

. 6g = mg

. 5500g=____kg
. 3400ml=____|




. 6g =
. 5500g=____ kg
. 3400ml=____|
.100m=___km

1 mg
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5.750mg=___g¢
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.534km=___m
. 1.5g =
.021=—___ml
. 2768g =

mg

kg

1.59 =
021=—__ ml
2768g =
12.46km=__m

mg

kg

i1 kg=_—g
6784mm=___m
4.51=__ml

24 kg= g
278ml=___ |
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